
jh]^ zLif{s k|lt j*f ;a} j*f

70 02 01 kl/jxg ;'lawf      240,000       7,680,000 
70 02 06 vfhf vr{      375,000       12,000,000 
71 01 01 laB't dx;'n       48,000        1,536,000 
71 01 02 vfg]kfgL wf/f dx;"n        12,000          384,000 
71 02 01 d;nGb tyf %kfO{       60,000        1,920,000 
71 02 03 kqklqsf tyf k':ts vl/b        15,000          480,000 
71 02 05 sfof{no dfn;fdfg       60,000        1,920,000 
71 03 04 a}&s eQf     288,000        9,216,000 
71 04 02 z'esfdgf, k|rf/ k|;f/ / la!fkg       48,000        1,536,000 
71 08 02 ^]lnkmf]g tyf km\ofS;       48,000        1,536,000 
72 08 04 cltyL ;Tsf/ tyf lkpg] kfgL      200,000        6,400,000 

s'n hDdf    1,394,000      44,608,000 

k'gZrM

2= j*f ;ldltsf] a}&sdf pkl:yt j*f cWoIf, j*f ;b:o / j*f ;lrjsf] nflu k|lt a}&s ?= 1000 -Ps xhf/_ 
sf b/n] k|To]s dlxgfsf] nflu clwstd 4 -rf/_ j^f a}&ssf] a}&s eQf jfkt jh]^ ljlgof]hg ul/Psf] % .

1= j*f ;ldltsf] a}&sdf pkl:yt j*f cWoIf / j*f ;b:osf] nflu k|lt a}&s ?= 1000 -Ps xhf/_ sf b/n] 
k|To]s dlxgfsf] nflu clwstd 4 -rf/_ j^f a}&ssf] kl/jxg eQf tyf k|lt lbg ?=250 sf b/n] vfhf vr{ jfkt 
k|lt dlxgf clwstd 25 lbgsf] ?= 6250 -% xhf/ b'O{ ;o krf;_ jfkt jh]^ ljlgof]hg ul/Psf] % .

sf&df*f}+ dxfgu/kflnsf

cfly{s jif{ 2075.76

1 b]lv 32 g+= j*f sfof{nox?sf] nflu

n]vf sf]* g+=

jflif{s k|zf;lgs ah]^ Joj:yf

1


